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General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

3172 2



3172

i —3A

Section — A

STt feregd T | B 9Tt it - T forfae | 1

Write the energy conversion that takes place in a hydropower plant.

TS o Teh WM H ST {1 o THI ATet HeX o W] T Heptll {he Bl aTet He o a1 &
SHUAT AT | F| Sl a1 Iiom S 8 ? 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F| progeny ?

(a) WHElH U ST a7l Ush W& Hele] UTE! qeiT Teh HTURTa! ol 41 faiRay | 2

(b) I feu MU = % waTg 3@, e g fora 3teT & ®9 4 T A g, H
T IR YfETehT T et 0 a 3T b 1 W foifau |

gﬁmﬁaﬁb—)ﬁﬁwwmﬁm

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | —> | a | ——> | b | ——> | End point of Neuron

Ffe feret et U0 gRT 3Heh | W foea o1 fepelt oft feufa <6 foTq wide &t T =1
e 37 A1es § Bier Afdfors sar ], 1 T8 UV fohd TeRR T & 7 37U 3T I gfee
fore Ariferd fertor s @i | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.
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g AT X TR H1g TR 3T o T1Y 443 K TITH HE T HIE I A1eh
Y’ ST B | A@ifes X wifeem arg @ off srfufsen et @ e i vl e 2
Freperdt 8 1 <X, Y’ qUT Z° B UEATHT | Y’ 3@~ BH Sl TEES ITTHAT 1
TRt off foTRaw au 39w 915 FoRIieh 37T <hi YfHehT T Seor@ Wi i |

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X, °Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of ‘Y’ and also write the role of sulphuric acid in the reaction.

TehTST oh 379 o T4aW feaflgu | ue “feret wream <1 fFruer squerdiess” bt s hifse
3R 39 ue a1 faaid § yerrer ) =1e1 o o o e hl ewiid o fou = fefigu |

CDE]

fepeft o <61 a7t & w1 ATl 8 7 38T ST AT TARAT | %18 BT 40 cm BIHE g &l
I ST L TG 2 AT H1g 3T B —20 cm Bl Gl 1 0¥ ITAT HL @1 | 9 gl
it Y yepfa 37T amar ferfae |
State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR

What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

IR A 3R <ifieh S % g Teh 3T fetflaw | 3Teifiteh S99 i aTeft S7eEr
Afieh S T aTelt SRS # & fopeeh g G TefiS A SRS o STuarehd
31freh TR &1 HWehdl & 7 37U I b1 gfee o forw swrwr €ifye |

Write one main difference between asexual and sexual mode of reproduction. Which

species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.
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8.  ug gwisy fob i uferierent, o wedes =61 ufetir 9 Q B, 1 3179 fopd TepR Gnifora shint
Toh TFISH =T e T (i) 13.5 Q, (i) 6 Q I & ? 3
YT

(a) [ 1 A e fTRee |
(b) < forera oivg T8 | T 1 3THAs 100 W; 220 V 7T Q8L T 60 W; 220 V 2,
fopeht forgga oia & e aredspn o T § | afe fagga smgfd Y dieear 220 v R,
A gt seat gy ferga B9 & fehat o oft STt B 2
Show how would you join three resistors, each of resistance 9 € so that the
equivalent resistance of the combination is (i) 13.5 Q, (i1) 6 Q ?
OR
(a)  Write Joule’s law of heating.

(b) Two lamps, one rated 100 W; 220 V, and the other 60 W; 220 V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from
the line, if the supply voltage is 220 V.

9. Tr=ferRaa sr=a:wmet R gro wnfaa &I 1 AT TUT T T Teh Yhr fotfau | 3
(a) U (b)) I (¢) =M
Name the hormones secreted by the following endocrine glands and specify one
function of each :
(@) Thyroid (b) Pituitary (c¢) Pancreas

10. et Tr@eht § gHER 5 o $© e oieht 3T 2 mL Hifea gsgiaaTss 1 faeaq
STEAT T | Tt 6t arft sl T Shid W s 19 Icdfoia g8 foreht wienn % 8 qd
3 TTeH % Tt @ venfea foran mn foad 719 & gergel 9 | 89 areht stfufhen
THIRTT TUT 39 719 o T o e e fafay | afe a2 a1g fret yoa 31t & a3
Torerem o srfufsren =, O S e ScEtSia Bt 35ent - fefa | 3
e

Tehig! ol TTfESe 3T GET s o ot IwmT fopu ST aret fepeft eterr 61 pH W 14 R |
Y G0 bl UETT a7 3Heh fAmT0r o foru vramafaes aefientor ferfgu | goes @ 3w i
il §H1T |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR

The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.
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(a)

(b)

(a)

(b)

e % FATerehiz Aires ferge & Farerss #4188 7

foreft U Hqw i 1 AT 3R ITeh! AT GRC e e T 9o 6 €9
T afRrd B 2 | 38 i o TRy Ushel STt 1 g faafaw |

Why are most carbon compounds poor conductors of electricity ?

Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

T (3ruere) Irfiifsranati § 31fYehren! ol died o foTu 31 ot ST 37T TehTsT 37T

Torera St Y STTaverehal BIdl & | Tceh SR <ht forrie stfrfsran, forem e, wepme 37
Torgga STt <l 3R <hT ST &, 6 ToTe Teh—Teh TEmIfeh et fafau |

Decomposition reactions require energy either in the form of heat or light or electricity

for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

Y FATEAT & ? BH oS I H SHET ATed & ¢ g ST T (HI0T hid qHT R

TSI bl S W1 TR, qTfeh ST ST | Afd 941 T, ITehT Ioei@ <hITT |

What is a dam ? Why do we seek to build large dams ? While building large dams,

which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.



14, ol foemer & BET 9 WA:HIEE 991 § 98 FHER g1 76 foooh 9 %2 &1 %18 9o
I e AT IR 3 MiSAT 39 Tersl | &8 T | H& A Wi St 81 10 3R & 3R
STtk ST 21 T | ek weled | sifge T ° oft SEt fowe ==t < qen Bl | R A
FHET 1 §A WIS o [ T | 3F=ad: DA A qf 63Tl o1 feehy ket — vget 98 §

o ST ST &7 3091 hLd & SHHT Y6 1 T o, 7T g I8 Toh Tl &R oX &0 m

%1 I~ | 3

(a) I %ST &H 39~ L & IHeh T&-H o &l U GIATST |

(b) TSf TR W, 8 & S FIT 9~ H o [T FH A1 HLEehd & 7 Ql foig ST |

(c) 38 wEm # frerh weied I f5m el & fowr O ol 1 fren & 370 @ <) gl B
T ST |

Students in a school listened to the news read in the morning assembly that the

mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points
— one is self management of the garbage we produce and the second is to generate
less garbage at individual level.

(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. (a) fortlt =rmereh, foraeht ammepfa ar St 2, w1 ufeig i srepl w i w°tar 7, 33h1

LRI

(b) &gy forga Y STt ATeTeh a2 hiw fed 1 HaTeTeh R Bl & 7 BRI ST |

(c) Terega aum gferert & T frsmgatt o6t SwRnT I fohe STt @ 2 o €T | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.

(b) Why are metals good conductors of electricity whereas glass is a bad
conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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(a)
(b)
(c)

(a)
(b)
(©)

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

TATHT 1 AT g e ferfe |

fergga Hiex =1 wRiwRI fargra fofan |

forege e 35 S fo o s 1 w6 e |

() IR (i) (iii) Tavem go

State Fleming’s left hand rule.

Write the principle of working of an electric motor.

Explain the function of the following parts of an electric motor.

(1) Armature (ii) Brushes (iii) Split ring

T HIET S o b 1 U 7T Jedieh YT o1 1Y felRaT
(i) 3USEE, (i) Jeartel,  (iif) T
AT hl AT 3TN 1 1 G § 9U shifa |

Write the function of following parts in human female reproductive system :
(i) Ovary (i) Oviduct  (iii) Uterus

Describe in brief the structure and function of placenta.

e SR 35 wer 1 a1 3 FERE SR A Yg AT 3 e 6 faf
=T ! TR |

HIR (TT) o THIES ITAEH 8 HIR H1 ehuv1 fohe Tehr ferert S @ 7 Frsepum
o fafy=r =ron <t =ame TamEe SHieh |fed i | i o faga sTaee
TTSeHTT <1 ATHTeRd 3TRE ST |

Write the steps involved in the extraction of pure metals in the middle of the
activity series from their carbonate ores.

How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.
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(a)
(b)
(c)
(d)

(a)
(b)
(c)

(a)
(b)
(c)
(d)
(a)
(b)
(c)

(a)

(b)

(c)
(a)

(b)
(©)

B o5 feregl Q1 FaTal ol Jooi@ SHITT |

IR T ST IS~ FfeR o T o1 1o farfiaw |

It 3T frem & o= areat 1 i fifau |

Tt 3R TR o Heredl o o 15 Teh Tt 3= faIRan | 5
YT

e <h i ferfau |

gaeh 1 IUTEIA STURY RIS Teheh 1 A9 foAfaT |

O o IcES a3 o1 3TRE@ WY 3R 30 W 3cH F o 38 W T ATHTh

#Hifa -

(i) NI RERHEE |

(i) ST el foteRt & 37X g9k & 47 Tfaa el B |

(iii) TSrEd 73 T 7o 73 WoeTRd T 2 |

Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria and ventricles.

Write one structural difference between the composition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of
excretory system which perform following functions :

(i) form urine.
(i1) 1is a long tube which collects urine from kidney.
(ii1) store urine until it is passed out.

3NYgHh 3TEd ARl 1 fohE SaE, =Ieivs Tl HUSET® o TR Tl <
SHROT B TR R | 3 AT T <hl Ueh-Teh 3T 3T Teh—TUsh |1 h1 Fft SIS |

39 3Tk o1 A1 foaRaw fem wevem arg gurin fob foreft aea sht v e 3deh
U] ZeAHTH oh g 8 Jfereh Semgd ure B |

3yl e frm fafaw | 5

The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of
all the three attempts.

Name the scientist who first of all showed that atomic number of an element is a
more fundamental property than its atomic mass.

State Modern periodic law.

9 [P.T.O.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

13 B T 3 m g R e wmdg i 318/ o1 T2 181 o e | 38 o
o gfee-gm & ifea 2 3eeht am foerfaw | 5 < & wwrfera swor fafaw 3tk soes
T <6t fafer st samen i |
AR | feAfentd & 7 =amen Hif |

3T
e 93 % R e e yes a1 wH fefe
() gaeft, (i) giaTienT, (i) TR @@, (iv) aemmdt afdmt
TSR Y R AT &I 8 7 1 hIs STaRerEnt 36 afteredr i da
g HT R ot SR ThdT B 7 319 3T <ht gfee & foaw Hwer s |

A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.
Why do stars twinkle ? Explain.

OR
Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (i) Crystalline lens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

10
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Section — B

22, 3THfiET < S I kAT o1 A fARaT | 39 S 1 wishan o fafi= <ot =61 3faa wn
¥ fafxa i | 2
e
18 BT A § Yoo GRT 3AfiTeh S o Tt <wom <ht wermreft Temmge o1 gewestt gr
TeI0T L TET & | I8 TATSS H S He J&07 hidl 7 39 0@ Giaeht (shHaR) gIsy |

Name the process by which an amoeba reproduces. Draw the various stages of its

reproduction in a proper sequence.
OR

A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

23. 4.0 cm H=1E H1 HE o0 20 cm ®ishE gl % el 3T oW % YhIRTH b5 O”
30 cm g0 W @ 2 | s o idfers i fRufd iR |mes a0 e % TR sma
Hifu | 39 3@ ¥ Y g <O’ d1 &I ®ihd ‘P 3ifeha Hifve | wfafers i
Farg 37 ferar 1 =g o1 ety ST ot 3a A | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

24, Torel B 9 @ WEHAET A 3R B § ol 7T SRRA Tethe G i Hehe o Ao
forerrt o Tgfifem a1g % %o goe STo | TR 3 gER 9T H 38 C 37K D TEAforEl §
el forw e egfufrem dethe 3 I Gethe % el faerami # TR u1g & ghe
Tl | Toper 3teran fore qrafern o 38 T 1 O H uitady fe@Tg <m 7 59 SN % SR
W Iooid HIFTT 1 1 it o1 Fariferes sfrfsprmsfict & s = | 2
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A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

1 Yo7 o Sirar & Sie fopd) wgaett # forw . sfem weise & fafermm 6 aifeam
Hothe Taeraq T Srar 2 ¢ affrfea vamfies sifufsean s qeamafae g qer 3q
TeR0T | B4 aTed] AT o Tehr o1 A faifgu |

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

fereft wfertieren, freept afeie (R) 2, & waTfed foega am (1) 37t 3ues Rt & e qegedt
favrarat (V) & oM = fou e sEn E

V (ae) 0510 |15]201]25|30] 40150

I(TP=R) [ 0.1]02|03]04|05]06]08]| 10
g (1) 3R favar= (V) & &= e it 3tk afaterss 1 gfade (R) F1d hifs |

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 0510|1520 ]25]| 30|40 50
I (amperes) | 0.1 | 0.2 | 03 | 04 | 05 | 0.6 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.

Tordf) ot o feseren | T <1 J&q01 o o foTU reameft 3Trgor dam ot <ht ufshan o =on
hl = T3 |

List the steps of preparation of temporary mount of a leaf peel to observe stomata.
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